
1

1

A A

4

4

6

6

7

7

D D

F

F

2

2

E.4E.4

EE

W
10

X
26

(+
11

' -
0"

)

W8X24

(+11' - 0")

HSS12X6X1/2

(+10' - 11 1/4")

5

5

HSS12X6X1/2

(+10' - 11 1/4")

HSS12X6X1/2

(+10' - 11 1/4")

6.5

6.5

HSS12X6X5/16

(+10' - 11 1/4")

W16X31

(+13' - 6")

7.9

7.9

W18X50

(+13' - 6")

9

9

10

10

11

11

HSS12X6X3/8

(+10' - 11 1/4")

HSS12X6X3/8

(+10' - 11 1/4")

D.7 D.7

C.1
C.1

B B

W12X30

(+11' - 0")

9.8

W10X22

(+11' - 0")

A.5

W
14

X
48

(+
11

' -
0"

) W8X24

(+11' - 0")

HSS12X6X1/2

(+10' - 11 1/4")

HSS12X6X3/8

(+11' - 0")

5.7

5.7

W12X26

(+11' - 0")

6.8

W12X22

(+11' - 0")

W24X62

(+10' - 11 1/4")

W10X26

(+11' - 0")

C C

7.2

7.2

8

8

3

3

HSS12X6X1/2

(+10' - 11 1/4")

W16X45

(+11' - 0")

W16X45

(+11' - 0")

W
16

X
45

(+
11

' -
0"

)

W
16

X
45

(+
11

' -
0"

)

1

S-308

___W
16

X
50

(+
11

' -
0"

)

W
12

X
22

(+
11

' -
0"

)
W

12
X

22

(+
11

' -
0"

)

W12X19

(+11' - 0")

W12X19

(+11' - 0")

W12X19

(+11' - 0")

W
18

X
60

(+
13

' -
6"

)

6' - 7 5/8" 6' - 2 3/4"

W
18

X
35

(+
13

' -
6"

)

W
18

X
35

(+
13

' -
6"

)

W
24

X
68

(+
13

' -
6"

)

EQ EQ EQ EQ

W24X84

(+13' - 6")

W24X68

(+13' - 6")

W
24

X
68

(+
13

' -
6"

)

W
18

X
35

(+
13

' -
6"

)

W
18

X
35

(+
13

' -
6"

)

W
18

X
35

(+
13

' -
6"

)

W
14

X
30

(+
13

' -
6"

)

W
14

X
30

(+
13

' -
6"

)

W
14

X
30

(+
13

' -
6"

)

W
14

X
30

(+
13

' -
6"

)

W
14

X
30

(+
13

' -
6"

)

W
14

X
30

(+
13

' -
6"

)

W12X19

(+11' - 0")

W14X30

(+11' - 0")

HSS12X6X5/16

(+11' - 0")

HSS12X6X1/2

(+11' - 0")

1'
 -

 6
 1

/2
" HSS12X6X3/8

(+11' - 0")

HSS12X6X3/8

(+11' - 0")

HSS12X6X5/16

(+11' - 0")

3' - 8 1/2"

W
24

X
55

(+
13

' -
6"

)

W
24

X
55

(+
13

' -
6"

)

8.6

2

S-304

___

3

S-304

___ 3

S-309

___

W18X40

(+13' - 6")

W18X40

(+13' - 6")

W18X40

(+13' - 6")

W
12

X
22

(+
11

' -
0"

)

W
12

X
22

(+
11

' -
0"

)

W
12

X
22

(+
11

' -
0"

)

HSS12X6X3/16

(+10' - 11 1/4")

HSS14X6X1/2

(+13' - 6")

W14X22

(+13' - 6")

W14X22

(+13' - 6")

REFER TO SCHED.

LGX-4;

R
E

F
E

R
 T

O
 S

C
H

E
D

.

LG
X

-3
;

REFER TO SCHED.

LGX-1;

R
E

F
E

R
 T

O
 S

C
H

E
D

.

LG
X

-2
;

LIGHT GAUGE HIP 

GIRDER

TRUSS (MULTIPLY AS 

NECESSARY)

800S250-97 STUDS 12" O.C. MAX.; 

DESIGN OF STUDS IS THE 

RESPONSIBILTY

OF THE LIGHT GAUGE SUPPLIER'S 

ENGINEER; SUBMIT

SIGNED & SEALED CALCS. & 

DRAWINGS FOR COR REVIEW

800S250-97 STUDS @ 12" O.C. MAX.;

DESIGN OF STUDS IS THE 

RESPONSIBILTY

OF THE LIGHT GAUGE SUPPLIER'S 

ENGINEER; 

SUBMIT SIGNED & SEALED CALCS. & 

DRAWINGS FOR COR REVIEW 

LIGHT GAUGE HIP GIRDER

TRUSS (MULTIPLY AS NECESSARY)

800S250-97 STUDS @ 12" O.C. MAX.;

DESIGN OF STUDS IS THE RESPONSIBILTY

OF THE LIGHT GAUGE SUPPLIER'S ENGINEER; 

SUBMIT SIGNED & SEALED CALCS. & 

DRAWINGS FOR COR REVIEW 

LI
G

H
T

 G
A

U
G

E
 T

R
U

S
S

E
S

 @
 4

'-0
" 

O
.C

., 
M

A
X

.

REFER TO HIGH

ROOF FRAMING PLAN

LIGHT GAUGE HIP 

GIRDER

TRUSS (MULTIPLY AS 

NECESSARY)

LIGHT GAUGE GIRDER

TRUSS (MULTIPLY AS

NECESSARY)

0.20.6

7.86.6

EXPANSION JOINT

EXPANSION JOINT

7

S-304

___
5

S-303

___

W
12

X
16

(+
11

' -
0"

)

W
12

X
16

(+
11

' -
0"

)

LL3x3x3/8 X-BRACING, TYP.

DESIGN CONNECTION FOR 6 KIPS 

AXIAL LOAD

E
Q

E
Q

E
Q

W12X16 W12X16

W
12

X
22

(+
11

' -
0"

)

LL3x3x3/8 X-BRACING, TYP.

DESIGN CONNECTION FOR 6 KIPS 

AXIAL LOAD

W12X16 W12X16

C.8

C.4

7.7

11.4

4

S-303

___

W12X22

(+12' - 0")

W12X22

(+12' - 0")

5.2

7.5 8.5 9.9

S-108

AA

S-108

CC

S-107

BB

G

G.1

G.2

E.2

1

S-309

___

A.4

2

S-309

___

REFER TO FLOOR 

FRAMING NOTE 7

REFER TO FLOOR 

FRAMING NOTE 7

DRAG TRUSS, DESIGN FOR 22.9 

KIPS (1.0 WL); REFER TO NOTE 12

DRAG TRUSS, DESIGN FOR 

9 KIPS (1.0 WL) REFER TO 

NOTE 12

DRAG TRUSS, DESIGN FOR 

13.5 KIPS (1.0 WL) REFER TO 

NOTE 12

DRAG TRUSS DESIGN FOR 15 

KIPS (1.0 WL). REFER TO 

NOTES 12.

DRAG TRUSS, DESIGN 

FOR 15 KIPS (1.0WL); 

REFER TO NOTE 12

R
E

F
E

R
 T

O
 S

C
H

E
D

.

LG
X

-1
7

R
E

F
E

R
 T

O
 S

C
H

E
D

.

LG
X

-1
8

DRAG TRUSS. DESIGN FOR 7.5 

KIPS (1.0 WL); REFER TO NOTE 12

W24X68

(+13' - 6")

5' - 11 5/8"

W24X68

(+13' - 6")

W14X38

(+13' - 6")

W14X38

(+13' - 6")

W14X38

(+13' - 6")

W
24

X
55

(+
13

' -
6"

)

W
24

X
62

(+
13

' -
6"

)

W
12

X
22

(+
11

' -
0"

)

W
12

X
26

(+
11

' -
0"

)

W
12

X
26

(+
11

' -
0"

)

S-106

AA

BA

BA

1

S-304

___
1

S-304

___

1

S-304

___ 1

S-304

___ 1

S-304

___

1

S-304

___

CHILLER

PLATFORM

6' - 8 3/8" 6' - 8 3/8" 6' - 7 5/8" 6' - 7 3/4"

12
' -

 9
 5

/8
"

12
' -

 9
 1

/8
"

1'
 -

 4
 1

/4
"

LIGHT GAUGE GIRDER; 

MULTIPLY AS NECESSARY

50 K*FT

65
 K

*F
T

65
 K

*F
T

55 K*FT

212 K*FT 212 K*FT

60
 K

*F
T

60
 K

*F
T

225 K*FT 265 K*FT

45 K*FT 45 K*FT

140  K*FT

23
0 

K
*F

T
23

0 
K

*F
T

100 K*FT

50 K*FT

50 K*FT

50 K*FT

50 K*FT

80
 K

*F
T

25
 K

*F
T

80
 K

*F
T

25
 K

*F
T

3

S-308

___

REFER TO:  (1/S-110)

5

S-309

___

6

S-309

___

S-111

AA S-111

CC

S-111

BB

5"
 , 

E
.O

.D
.

4 7/16" , E.O.D.

5 3/8" , E.O.D.

5"
 , 

E
.O

.D
.

HSS12X6X1/2

(+10' - 11 1/4")

W
12

X
22

(+
11

' -
0"

)

HSS12X6X5/16

(+11' - 0")

HSS8X3X5/16

W14X30

(+13' - 6")

W14X30

(+13' - 6")

2

S-308

___

8

S-304

___

R
E

F
E

R
 T

O
 S

E
C

T
IO

N
 2

/S
-3

07

P
R

O
V

ID
E

 B
LO

C
K

IN
G

 B
E

T
W

E
E

N
 L

IG
H

T
 G

A
U

G
E

 T
R

U
S

S
E

S
;

R
E

F
E

R
 T

O
 S

E
C

T
IO

N
 2

/S
-3

07

P
R

O
V

ID
E

 B
LO

C
K

IN
G

 B
E

T
W

E
E

N
 L

IG
H

T
 G

A
U

G
E

 T
R

U
S

S
E

S
;

REFER TO SECTION 2/S-307

PROVIDE BLOCKING BETWEEN LIGHT GAUGE TRUSSES;

REFER TO SECTION 2/S-307

PROVIDE BLOCKING BETWEEN LIGHT GAUGE TRUSSES;

S-107

DD

SIM.

SIM. SIM.

W12X19

(+11' - 0")

W18X40

(+13' - 6")

W18X46

(+13' - 6")

DECK HATCH LEGEND

-    FLOOR SLAB SHALL BE 6" THK. CONCRETE ON

     ON 2VLJ20 DECK W/ 5/8" DIA. PUDDLE WELDS

     IN 36/4 FASTENER PATTERN AT ALL SUPPORTS

     W/ #10 SIDELAP SCREWS @ 12" O.C., U.N.O.

     REINFORCE SLAB W/ 6x6-W2.9xW2.9 W.W.R.

-    ROOF DECK SHALL BE 1.5B22 DECK FASTENED TO

     SUPPORTS W/ #12 TEK SCREW IN 36/7 FASTENER

     PATTERN W/ (3) #10 SIDELAP SCREWS BETWEEN 

     SUPPORTS, U.N.O.

-    ROOF DECK SHALL BE 1.5B22 (50 KSI) DECK FASTENED TO

     SUPPORTS W/ #14 TEK SCREW IN 36/7 FASTENER

     PATTERN W/ #10 SIDELAP SCREWS @ 6" O.C.

     BETWEEN SUPPORTS, U.N.O.

STEEL FRAMING  REFERENCE

WXxXX [XX ]  c=3/4"  

(X'-X")  

AISC SHAPE DESIGNATION

INDICATES #  OF SHEAR STUDS WELDED 

TO TOP FLANGE OF BEAM PER GENERAL 

NOTES

BEAM CAMBER IN INCHES AT 

BEAM MIDSPAN

XXK (A)  XXK  

XXK-FT  

INDICATES BRACED FRAME SEE ELEVATION

ELEVATION OF TOP OF BEAM

INDICATES MOMENT 

CONNECTION

SHEAR REACTION

MOMENT 

REACTION

AXIAL PASS-THROUGH FORCE

INDICATES CONNECTION TO BE 

DESIGN FOR AXIAL PASS-

THROUGH FORCE

0"
 T

Y
P

.

- PROPOSED  CONDITIONS

-  EXISTING CONDITIONS

-  SECTION MARK 

- MOMENT CONNECTION

GENERAL LEGEND

"TEXT"

"Text"

1

S1

SIM

- SHEAR WALL LOCATIONS

- CONCRETE

- INDICATES DEDUCTIVE 

  ALTERNATE ITEM

- REINFORCED MASONRY WALL

FLOOR FRAMING PLAN NOTES:

1. FINISHED FLOOR ELEVATION = 130.50 (+14'-0").

2. ALL ELEVATIONS NOTED THUS (+X'-X") REFERENCED TO FINISHED FIRST FLOOR ELEVATION.

3. PROVIDE 1/4" THICK BENT PLATE POUR STOP ALL FLOOR EDGES, TYPICAL, U.N.O.

4. REFER TO FOUNDATION PLAN FOR ALL WALL REINFORCING SIZE & SPACING, U.N.O.

5. REFER TO ARCHITECTURAL DRAWINGS FOR ALL NECESSARY EMBEDDED ITEMS, RAMPS, STAIRS, LANDINGS, AND FINISH DETAILS.

6. REFER TO ARCHITECTURAL DRAWINGS FOR DIMENSIONS AND ELEVATIONS NOT SHOWN.

7. AIR HANDLERS ARE ESTIMATED TO WEIGH 4,000 LBS. CONTACT COR IF UNIT EXCEEDS 4,000 LBS.

8. REFER TO HIGH ROOF SHEAR WALL CONNECTION TO STEEL BEAMS BELOW DETAIL D/S-501 FOR CONNECTION DETAILS OF SHEAR 

WALLS TO BE WIDE FLANGE BEAMS.

N

Project Number

Building Number

Drawing Number

Project Title

Location

Issue Date Checked Drawn

Drawing Title

Approved:

VA  FORM   08 - 6231

A

3

FULLY SPRINKLERED

Office of
Construction
and Facilities
Management

U.S. Department 
of Veterans Affairs

B

C

D

E

F

A

B

C

D

E

F

21 4 5 6 7 8 9 10

Phase

ARCHITECT/ENGINEER OF RECORD
A/E:

STAMPCONSULTANT

321 4 5 6 7 8 9 10

NOT FOR 

CONSTRUCTIO
N

AREA B

KEY PLAN

AREA A

TRIPLE C - The A/E Group

201 E. Jefferson Street, Suite 200

Syracuse, NY 13202

(315) 484-5958

Mat Perkins

MEP
550 North Reo Street, Suite 203
Tampa, FL 33609 
(813) 289-4700
Nicholas Stephenson, PE

Structural 
315 West James Street, Suite 102
Lancaster, PA 17603
(717) 481-2991
Jason Vannoy, SE, PE

Protective Design Specialist  
240 West 35th St. Suite 1004
New York, NY 10001 
(212) 967-4890
Corrine Tan, SE

Landscape Architect 
418 North Toole Avenue
Tucson, AZ 85701
(520) 622-9565
Josh Orth., PLA

B
IM

 3
6

0
:/
/6

2
0

-3
3

4
 N

e
w

 C
o
m

m
u

n
it
y
 L

iv
in

g
 C

e
n
te

r/
6
5

2
0

8
1
5

0
0

_
v
2

0
.r

v
t

7
/2

1
/2

0
2
1

 5
:2

3
:5

7
 P

M

S-105

FLOOR FRAMING & LOW ROOF FRAMING PLAN 620-334

CLC

07/21/2021 WCW SIR

ISSUED FOR
CONSTRUCTION

NEW COMMUNITY LIVING
CENTER

2094 Albany Post Road, Montrose, NY 10548

1/8" = 1'-0"

FLOOR FRAMING & LOW ROOF
FRAMING PLAN

ROOF FRAMING PLAN NOTES:

1. ALL ELEVATIONS NOTED THUS (+X'-X") REFERENCED TO FINISHED FIRST FLOOR ELEVATION.

2. ROOF DECK SHALL BE 1.5B22 DECK FASTENED TO SUPPORTS W/ #12 TEK SCREWS IN 36/7 FASTENER PATTERN W/ (3) #10 SIDELAP SCREWS BETWEEN 

SUPPORTS, U.N.O.

3. ALL ROOF PENETRATION LOCATIONS ARE APPROXIMATE. COORDINATE W/ HVAC CONTRACTOR FOR EXACT LOCATIONS. PROVIDE FRAMING FOR ALL ROOF 

PENETRATIONS AS SHOWN IN THE TYPICAL ROOF PENETRATION FRAMING DETAIL.

4. DETAILS AS SHOWN INDICATE TYPICAL CONNECTIONS AND CONDITIONS.

5. REFER TO ARCHITECTURAL PLANS FOR TOP OF NON-LOAD BEARING WALL HEIGHTS AND ROOF SLOPES.

6. REFER TO ARCHITECTURAL AND HVAC PLANS FOR EXACT LOCATIONS OF ROOF TOP UNITS, ROOF DRAINS, AND ROOF VENTS.

7. REFER TO ARCHITECTURAL DRAWINGS FOR DIMENSIONS AND ELEVATIONS NOT SHOWN.

8. PROVIDE 1/4" THK. BENT PLATES OR ANGLES AT ALL ROOF EDGES, TYP., U.N.O.

9. TRUSS BEARING HEIGHT SHALL BE (+11'-0"), U.N.O.

10. ALL STEEL BEAM AND COLUMN CONNECTIONS SHALL BE DESIGNED BY AN ENGINEER LICENSED IN THE STATE OF NEW YORK. REFER TO SHEET S-401 FOR 

MIN. SHEAR CONNECTIONS. REFER TO FRAMING PLANS FOR LOADS THAT EXCEED TABLE VALUES AND ALL MOMENT CONNECTION FORCES. REFER TO 

TYPICAL MOMENT CONNECTION DETAIL ON SHEET S-401 FOR CONNECTION CONCEPT.

11. ALL TRUSSES SHALL BE DESIGNED FOR THE BLAST REQUIREMENTS INDICATED BY SECTION 05 40 00 COLD-FORMED METAL FRAMING OF THE PROJECT 

SPECIFICATIONS. ALL EXTERIOR COLD FORMED FRAMING SHALL BE DESIGNED FOR THE BLAST REQUIREMENTS INDICATED BY SECTION 08 56 53 BLAST 

RESISTANT FACADE SYSTEMS.

12. DESIGN DRAG TRUSS TO TRANSFER LOAD NOTED IN SHEAR WALL TABLE OR AS NOTED ON PLAN TO BOTTOM CHORD OF TRUSS. LOAD CAN BE COLLECTED 

ALONG THE FULL LENGTH OF TRUSS TOP CHORD (HORIZONTAL PROJECTION OF TRUSS).

13. LIGHT GAUGE SUPPLIER SHALL COORDINATE WITH TRUSS SUPPLIER AND DESIGN STUD BELOW ALL GIRDER TRUSSES AS REQUIRED TO SUPPORT ALL AXIAL 

AND BLAST LOADS.

14. REFER TO ROOF TIE OFF DETAIL M/S-302. REFER TO ARCHITECTURAL ROOF PLAN FOR LOCATION OF TIE OFF POINTS. TRUSS SUPPLIER SHALL DESIGN 

TRUSS TOP CHORD FOR LOADS NOTES ON DETAILS.

15. CONNECTIONS FOR STEEL BEAMS BETWEEN COLUMN LINE 3 AND 14 ALONG GRIDS E AND B SHALL BE DESIGNED FOR 14 KIPS OF AXIAL LOAD IN ADDITION 

TO SHEAR AND MOMENT LOADS. CONNECTIONS FOR STEEL BEAMS BETWEEN 3 AND 14 ALONG GRID C SHALL BE DESIGNED FOR 9 KIPS OF AXIAL LOAD IN 

ADDITION TO SHEAR AND MOMENT LOADS.

BA

Revisions: Date:
7/21/2021 License valid

through 11/30/2021
05/09/2022

/20245/09/2022

Page 51 of 227


